Sr Questions Answers Choice

A Hsas b
1 =GOS o S sy S8 s e Gl S (S g a 8 S s gl B. il pine

2 G DS Gl S b (S o5 555 (S oo i ol e S e s cnd S 1S e

3 O NS G las S and S 5 el a1 S Sl S Glal (S 05050 bl whed (S Jlald

=
=l s s
D. o ustd

4 dhééﬁ)g&&&dﬁ}h}‘uéd)‘ab‘)‘é‘

Owr DOoWP TowW:
¢
3

A G o) o (Jsas alite (Jgea g Jaug)

=
B. =i S o s alite (Jga b
5 s e (S Ak o S Jsas a8 o) (Joaydanl i < e JoSa C. o) o (Jyag oyl (Jsems alida

=
D. & Ho S Jsasalite (Jgadas)

6 cuua‘.L;lSuJLu??mﬁC‘lujfl.uﬁ.uLL;lSquLuj\L_\a

7 )1 1S G e aBida g lisn Ly € 1ad 1S Ci jlima Jaugl o s
e Jan alide 55 i L) R B! 3 T e S
C"‘:‘):‘LEJ}“

Gyl oy
b aima
i Loyl
QJLAAY;EA

8 O e E€ gt S & S g 5 G e a3 oS a5 S gy e I e sn e
ar NS

¢

LJJL.AAJS
5 G20 S 4 s . o jlas Alra
9 G S G 0 WS Gl (e Ja e Dl e e S a0 o i lae Gifomn o i

Cijlas Tie

EPWATE PSS I
ﬂ..'a,Lu\s;m@'gléﬁi
JRIS (e ) S al

10 dw‘d&us_ﬁ'\l:ﬂwdele‘)awd‘)wﬂa

il (S Us)se
i gaa S China 93 S sl

11 Ugs (e Jall S s (e J0 700 e il a5 L poan Cind S Je pla

12 = aed S CRY ol &

13 = S e sl S

14 = B ) ala 1S Juala Ul 548

> DO®mr O OWr DO@P UOUP U0WP» 0U0UP U0OWr U0O®mE 0O00;



15 = s 3l ala 1S Jals Wl (518
C. nelss

D.);\Ll\)eaﬂ



